O)dH-CMNIS=2

PREVIOUS KNOWLADGE
» QUAaOEGEI6M] : 80) (MoaI@I@IMINM)o @SRl 86O MVa; @6 Qflenz)o
allensio H65l1SIaM G .

> 6a0mM}QImOMe (d): 80 MVAIMEEWIEMIWIeLI B©) a3l
O@ISJaROBIOL! alBo dHJ0.o} BHISIAM (Mo .

6DQI  (VADTDEGUIMIWIBLI alB6BRBJo @BROIWES
NOMEBRBIMO6M”

©BBlalBo f Qo HAIXMIQI@MOMVo d. WINIW B0} CVAIANEGUREMIVYeS enNiLWEMI@ ©)alo
Xn=dn+(f-d)
80) MVATDEEUIEMIWYeS NIRMEMI® ©)alo Xn=an+b @RI
®@RB(alBe =f=a+b 6aldQU@OMo =d= a
@B{EO0) @ISO.2JWIW N af)GIPMd TVEUIEHBIOS 3

1+2+3+

O

» 80) MUATMNEEUIEMIIES N alB6RBIOS )d:
Xn=an +b 8©) MVANDEEUIEIMI
enlles

N oIB6EB8OS O)d:

(a a}OBOMES af)SIOIMIOD ) (b, n @AM SISO )

(ag)gm(ois MBI BSOS O )
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D@1 MM MMBE alOWIo
680) TVADTDEGUEEMIYES NiLeMI™m®©}ale X, = an + b @RI

Sn=a(n(n+1))+nb

E.g.: 11, 16, 21 ... o)(M (LADADEGUOEMIWIES @RYB(HO 20 olB6BBBIOS )
&O6IM) .
60D VADMMEEUIEMIWYeS NlRWEMIM®©Yalo = X, =dn+(f-d)
Xn = 5n + (11-5)
=5n+6
enallesa=5andb=6. 20 olBERE)6S ©)dH

Sn=a(n(1;+1))+nb

20 (20+1
S,0=5 (%
Szo=5(%)+120

S50 =5 (210) + 120 = 1050 + 120 = 1170
Szo = 1170

E.g.: 10, 13, 16 ... of)(M QLAIADEGUREMIWIOS @R)ROOM 10 olB6EREIOS MY
>HO6MYdb.

) + 206

60D VADTMEGUREMIWYeS NiRMEMIM®©)alo = X, =dn+(f-d)
Xn=3n+(10-3)
=3n+7
enQfl@sa=3and b =7. 10 alB68BE}6OS @)

Sn=a(n(';+1))+nb

10 (10+1)

510=3(

) + 10x7

510=3(%)+70

S10=3(55)+70=165+ 70 =235
S10=235
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> OHGHWIES A6QIA) ®lalo

Sn:g (2 + x1)

Sn=§ (@PQITVIMalBe + @B)BE(alB0)

E.g.: 11, 16, 21 ... o)(M VADADEGUOEMIWIES @RYBE(GO 20 olB6B3BIOS )
HO6M) .

©BBfalBo=X;=11 @RQITVIMalBo = X0 = X1 + (N-1) d
=11+19x5 =11+95=106

®RREOM 20 olB6838)6)S @)d = Szo=22—0 (106 +11)
S20=10x 117
S20=1170
MORE EXAMPLES

o)am (TDO(TO)(O(E((IB&DW@)&@S B19(3§6)(010) 25 al368138J0)S (0)}dh BHIO6IMID:
@9(3§all3o = X1 = 1 25th all3o0 = X5 = X1 + (n-1) d
X5 =1+24x3=1472=173

@RB(EOOO 25 olB6ER8)AOS )H = Sys= 22—5 (xp5 + x71)
Ss==" (73+1)

25
Sas = (74)
525 =25 x 37 =925
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2. aRQIBS @MIEIHEIM (MA@ Mo BMIHE)o.
1 1°t QIRII@ 1 alBo & @BQICTVIMalBo 1
2" QG 2 alBo & @PQITVIMalBE0 3 (1+2)
3 QRIS 3 alBo & @RQIMVIMalBoe 6 (1+2+3)
4% QRN 4 alBo s & @RQITVIMalBo 10 (1+2+3+4)

a) 20" QEIWI@d 20 olBeBRUd

20(20+1)

20" aivllerl @RQITVIMalBo 1+2+3+.....+20= =210

N QEIWIMD N aIR6BRUd

nn+1
n" QelwleL! @RQITVIMalBoe 1+2+3+ = nntl)

20" aidller @RBS alBe = 20™ AElIeRI @EQINVIMalBe = 19x1=210-19 =191
n" aIdlwleal @B alBe =" ABIWIeRI GRAINYOIMalBe— (n-1) x d

20" QIEWIER! o IBEBREIOS @) = Sa0= ‘“;—9 (210 + 191)=10 x 401=4010

n"IGlWIeR! IBER8)OS M)

n
Sn=7 (n™" aiBller] RAINIOMaIB. + N QIBIRIeRI @BE[ alBo)

&) 20 QIEIIBEWITBAPR o IBEBROSY @Y =1+2+3+....4210 = T2

=105x211=22155
N QAGIIHEWIEBg)L)D «IREBBIOSWI @B = 1+2+3+ ”("2“)
MORE QUESTIONS TO PRACTICE

1.
2)IHNSVLBS BIEOI LRI OEUEMIWINSWIo @YB\OTD 25 I3

BRSNS M) M.
i 11,22,33, .. (i) 12, 23, 34, ..
(i) 21,32, 43, .. (iv) 19, 28, 37, ..
(v) 1,6, 11, ..

Refer more example 1

6, 10, 14, .. apom cqunommoecuosmlees arsiaom 20 l36B8)0s
2 .

@M &HWo @RS)OM 20 AIBEBZINS M)dh@lo MINLNBH NIV |0MUo

af) (M WO6M ?
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6, 10, 14, .., apom cuvoommocesmlaynsw)o 15, 19, 23, .. apam
UMM OEUBEMIW)HsWIo @RYBIOOM 20 AIBEEB8)OS M)dhd: U8 axl

RNBB QUYMLOTV0 36N ONIHN) .

Click here and watch the video class for better understanding of the
problems and concepts

SMUDIOMR MFMIDEBBOW afLID DM BNTVORIJHB)HSW)o )b

N2 ) i1S1H6 ).

D) HSIHRIMMIW MVos I GHIOMINHL!I @BRS)OM 06N2) UGlB:U3
f) 9 0 ).

10-00 aiolwlenl @YCEIHOEMWo GRAITVIMOMW]o TV
DU nf)P)D)dh.

(11) ERELOOD OMUG:SINE! TUoAIN;:BINS M)d @ 6M)dh.

Do this problem as shown in the above example
6. 2aRQeS OIS BICED MAITMEEUIEMIIOSWIo @RBIHO™ 100 aIBEBRSBYOS D
GHO6IM)dD
a) 1,4,7 ...
b) 4,10, 16
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https://www.youtube.com/watch?v=aIpyuNXg_Z4&t=1435s
https://www.youtube.com/watch?v=aIpyuNXg_Z4&t=1435s

